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.; O.O=O~A,O.l=OEA  ,...,  O.S=OEA

2.0=O~A,2.1'=2EA  ,...,  2.5=4EA

4.0zO~A.4.1  =4EA ,...,  4.5=2EA

ir E A Vi E A, r E ZG

n"aeeiis  4.1.3 ax N = IO, 3j c Zg

(N, +6> .d $ G, +6r .6)

LbAt (N, +e, .G)  L~Un(Uqmun~%os  (26, +6, .6)

0. N = {O 0,O 3) = (O,O] c N

I N = [I . 0, 1 31 = 10, 3j c N

2 N = l2 0, 2 3) = [O, Oj L N

3 N = [3 0, 3 3j = [O, 31 c N

4 N = 14 0, 4 31 == [O, 0) c N

5 N = ; 5 0,s .3) = 10, 3j c N

~9% N 0 = =(0 0, 3 0) (0, Oj c N

N 1 = [O 1, 3 lj = lo, 3) c N

N 2 = 10 . 2, 3 . 2j = (0, 01 C_ N

N 3 = lo. 3, 3 31 = [O, 3j c N

N 4 = [O 4, 3 4) = {O, O] c N

N 5 = {O . 5, 3 S] = [O, 31 c N

. rN c N LbAt Nr c N vr E Zcj.
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II ~ qh = 0

II = yk E < k .b

:. I L < h >

3in (1) bla: ( 2 )  %6+

I = s:  h >

. . . .._... (2)

#



4 4

L&591*  a  f 0



4 5



4 6



4 7



4 8

. rs+S  = (r + S) (s + S)

= (r + S) (0 + S)

= r.0 +  s

=  o + s

rs-0 E s

rs E S

Yh%GJ?CU

sr  + s = (s + S)(r + S)

= i0 + S)(r + S)

=  O . r + S

=  o + s

sr-0 E S

sr  E S

. . . . . . . . . . (1)

. . . . . . . . . . (2)

#



1% r, + 1, rz + I, rj + I E R/I

..’ (r~  + I) + jtr2 + I) + (r3  - I)] = (r~  + I) j(rz + rz) f 1)

= rl  + (rz + r3)  + I

= (r,+r2)+r,+l

= (rl  + i-2)  + 1  + (rl + I)

= [(r,  + 1)  + (r2  + I)] + (r3  + 1)



.

5 0

‘,’  (0 + I) + (r + I) = (r + I)

LbRZ (’ + I) + (0 + I) = (r + 1)

msStt4  (0  + 1)  ~~pa~on~n’nwFii~lH~~nn7fUanlPd  R/I

ag  (r + 1) E R/I

(-r+I)+(r+I)  = (-r+r)+I

=’  o+1

bb8Z (r + I) + (-r + I) = (r - r) + I

= 0+1

. . (rl + I) + (r2 + 1) = (Kl + r2)  + I

= (r2 + r,) + I

= (r2 + I) + (rl  + 1)

&&4 ni=wanlu  R/I  tcvm~~“asn~n7aa~~~

’ (R/I, +) r9un~u~A;o~n~~Jngnl~~~~~  (Abelian  group).

!.ps”  r, + I, rz  + I, rl + I E R/l

. . [(rl  + I)(r2  +  I)][r3 +  I] = [r,r2  + I][r3 +  I ]

= (r1r2)r3  + I

= rl(r2r3)  +  I

= (r1  + I) [(m + I)]

= [rl + I][@2  + I)@3  + I)]
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IX  Jl + I, rz + I, r3 + I E R/I

'.' (JI + I)j(r2  + 1) + (r? + I)] = (r, + I)l(rz  + r?) + I]

= JI(J2  + Jz) + I

zz (r,r:  i r,r1)  + I

= (r,rz  + I) + (Tll.3  + I)

= I@,  + lKr2  + I)]  + [(r,  + Nr3 + I)/

Lmt j(r, t 1) t (r: t I)/(r-3  + I) = j(r., + rz) + Il(n  + I)

= (r, + ra)rq  + I

E (r,r,  + rzr3)  + I

: (rlrl  i I) + (I~I-,  + I)

= I(r-! + i)(r? t I)]  t /(l-2 + I)(r,  i I)J

+b.tu n9nl.jlbBnaa~saBea~~s%u  R/l

Lbi3Z  (K/l,  +  , .)  duas #
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